walaia 22 Jilwadl J5ls ol

@alall aulsill & sin .Q%d';.

Jilwall >l il

oy gl

I
o \e reven L_Ijml
ualaia '%W‘ JiLwall J3lc
T .. .l ,:, ) 'a ; .
i LAY Bally S s 3 S

O sxs ¢’ ) —9x-9x-9 -9

€) nxhxhxhxhxh K @) -819x—819x-819 -819°

e 11x11x—2x—2x—2x—2 112}{ 2 o Ax4x4x3x3IXTXT 4 x 32}{72;
€ 6’6x6=36 € 5 5x5x5=125 @ (-2)' 2x2x2x-2-16
O -1)" -1x-1x-1x-1x-1x-1x-1=-1

@ oox0x0=08D 100° 100 x 100 = 10000 5%,
B (-3 3 D 40’ 40 x 40 x 40 = 64000 L%
15 0 (-10)* -10x-10x-10=-1000
@) 2°x3°x10° 2x2x2x2x3x3x10x10x 1010 x 10 = 14400000
Al sl
(18 JE| 0 171 @) (-9)° 1 & -1)°1
:3,&‘514&:;&5;}2?1%1,3;;@{;%3&j?ﬁégu;%i

@ 240 2" x3x5 @) 144 322 ) 225 57x3% € 1089 32x112§

> lgio 1/3



o> lgio

FAWAE]

£, psdisae

05 2=2

1 2x2= 122

1.5 2x2x2=23

2 [2x2x2x2=2"
25 |2x2x2x2x2=2

Jlaall J>lg ol

G0 s 3 Ll L5 @
EAEN N EEINUTTY
Sl YIJ;;.L;JIJ_QSTJ.J:—
;,;s.;ut_h q_,,;_ﬂ RS P
Sle ol 33301 2l rL,.AJ!

355550

sk T plad) ot o841 5 %3600 LOLY1 S o i5
32x 2*x 57

%w_( p

s‘n

& 1000 =10

2

=
LB L P PR o
gﬁEJ}JL’.LGﬁﬂM1L:JII.U‘

fo 5

§;,¢J;$me‘ﬁbﬁz;mwsm t L

30

2/3

-2
& é} - L ‘:':° 3 &
56 s S 3358l Y1

€2 100000=10" € 10000000 = 10’



wlaia '%Yg?\' Jiluall J7i9 kIJJMi

o IR p<alll &lplad )

g X% 8 G Ll el 55 LB s il @)
L T 5 11 0 0 40
UK -7, -1 1007, -13 204

2 # },-; "

3 - -
(A A ol 03V 2(2) (I () #H S
0 1° < 10 0D <2
€ 7 >19 € 2+2° =4

2
23 9

3 aer JET TR L L -iF B P e P I -
.w\jnﬂbbgibr_n%ﬁicISqu; WULI¢H@J}DIM'I@§:51 i

wm-m% 3x3x3x3x3=243zn=alls3 x5 Cunclae

e LI

2 P 2 o 03 o
- - - 8L 8§ e e - - P
(:;‘JL?-LJJJ Qw& - ﬂ.ﬁr‘w_ EYHDJLg‘JAJ‘.J"'

G 0o il JalSll a pall (Y ¢dilala s e
470 108 5 ol ol L}ah:.j_; Jaac 4uadd & ac

o se Ll 2

> lgio 3/3



